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Data Samples:

MC:
1. /belle/collection/MC/S16_MC16rd-prompt_4S_ccbar_skim_75000100_v1
/belle/collection/MC/S16_MC16rd-prompt_4S_udstau_skim_75000100_v1
/belle/collection/MC/S16_MC16rd-prompt_4S_BB_skim_75000100_v1
/belle/collection/MC/S16_MC16rd-proc16_4S_ccbar_skim_75000100_v2
/belle/collection/MC/S16_MC16rd-proc16_4S_udstau_skim_75000100_v2

AN T

/belle/collection/MC/S16_MC16rd-proc16_4S_BB_skim_75000100_v2

Data:
7. /belle/collection/Data/S16_prompt_4S_skim_75000100_v1
8. /belle/collection/Data/S16_proc16_4S_skim_75000100_v2

Selection Criteria:

def Lambda® skim(output list="Lambda®@:skimoff", input list="Lambda®:merged", path=None):
skimCuts = "cosAlpha > 0.99"
skimCuts += " and 0.6 < momRatio protonLambda < 1."
skimCuts += " and flightSignificance > 3."
skimCuts += " and protonID proton > 0.1"
ma.cutAndCopyList(output list, input list, cut=skimCuts, path=main)

ma.applyEventCuts('eventExtraInfo(passes InclusivelLambda)==1",path=main)
stdLambdas (prioritiseV0=True, fitter='TreeFit', path=main)
Lambda® skim(output list="LambdaO:cut", path=main)
if args.isMC :
ma.matchMCTruth(list name='Lambda®:cut',path=main)






00<p<15

15<p<25
s . P 25¢p<5.0
100 f— — Data [
| . 160 — Data 60000 {— — Data
: MC , —MC
| 3 — MC
140 |-
80— r 50000 [
I 120{—
ol 100~ 40000 f—
80— 30000 —
so|[-
L 20000 f—
40
20f- 10000
= PN T N B T I B Bian e
o F
?ﬁ s g [ § DR,
bl E e v, .
b F E E e
e i Q osp !
o v E i
o L L L L L L L L L E £
0.1 02 0.3 0.4 0.5 06 07 08 0.9 1 0.1 02 03 0.4 05 0B 07 08 08 0
pr clusterLAT pr clusterL AT ot 0z o3 o4 pr C\UDS.?EILAT o6 o7 o8 g
00<p<i15 15<p<25
p - P 25¢p<5.0
F 220
E — Data E — Data 80000[—
90000 — 200 = C — Data
B —Mc F —MC F M
80000 — 180 — 50000 —
70000 — 160 — C
E E 40000 —
60000 1400 r
50000 1206~ 30000/ —
E 100 — C
40000 — C L
E 8o~ 20000/ —
30000 — C N
E 60— r
20000~ sof- 10000 —
10000 200 C
= E L oA R P P Ry A B
PRI N BN AP SR R L L rur R IR BN IR ETE i
il o
g rrrrrrrrrrrrrrrrrrr % 2f
B R N T = -,
g z o
[=}
o
01 02 03 04 05 06 07 08 09
°, [X] 02 03 0.4 0.5 06 07 0.8 09 0 o1 2 0.3 o4 o5 6 o7 o8 e pr_clusterUncorrE

pr_clusterUncorrE pr_clusterUncorrE




35000

30000

25000

20000

15000

10000

Data/MC

70000

60000

50000

40000

30000

20000

10000

Data'MC

18
16
14
12

5000

00<p<15

Al L L . .
3
2
A E————— e e L
v n L . . ,

0z o4 06 o8 1 12

pr_clusterAbsZernikeMoment51
00<p<15

o Lo L L L L L | L
E +
Foins

b

02 04 06 08 1 12
pr_clusterAbsZernikeMoment4d

15<¢<p<25

40000

35000

>
T[T

rl

Data/MC

60000

50000

40000

30000

20000

0z 04 08 0B
pr_clusterAbsZernikeMoment51

1.5¢<p<25

10000 F

B

Data/MC
boow

0.4 06 OIB 1 12
pr_clusterAbsZernikeMoment40

25<¢p«<5.0

18000 i*
16000 {—
14000 —
12000 (—
10000 {—
8000
6000
4000 {1~

2000

— Data
— MC

Data/MC
ro

o
[

0z 04 06

pr_clusterAbsZernikeMoment51

25¢<p<5.0

16000

14000

12000

10000

8000

6000

4000

2000

— Data
— MC

Data/MC




00<p¢15 15<p<25b 25<p<5.0

Data/MC

45000 40000 — L
40000[— 35000{— 10000 |—
35000 — 30000 ool
30000 — F r
= 25000— F
25000 — E 6000 —
E 20000— o
20000 — = F
F 15000 L
15000 — = 4000 |-
mooo; 10000~ L
£ E 2000(—
5000 — 5000— L
e o b b Lo b b Lo NS P I I BT IS R B ~E ‘
4= £ B
g r o 2B g LE
ER T f H [h f s |
o L e bl = AN i A | o 1B H #
oL thud#'“' . e ‘j H {} th,... Al H} ek
0.1 0.2 03 0.4 0.5 06 07 0.8 0.8 o | ! 3 0.1 02 03 04 05 06 07 oe 09
pr_clusterE1E9 01 0z 03 0.4 0.5 0.6 07 [X) 09 pr_clusterE1E9
pr_clusterE1E9
0.0<p<15
- 15¢p<25 25¢p<5.0
F Dat s 30000 5
160 — aa 160 — Data : Ma(i:ta
c — MC F — MC 25000 1—
40— 140 —
120 — 120~ 20000 -
= 100{— O
100 — C 150001~
C 80— i
80— F 0
C sol— 10000
60— P
C 40 s000—
40— r
c 204 =
20 = L
7N I IR A ARSI bl Pl 1 3
C S o E
Py Ll o ET y 1 l|I| l %
83 P el gl ’ st W
Py a-\._i rrrrrrrrrrrrr 8 osf * [ L d } + ” W T K il'l' '|+}
E "-——"‘-""""‘-’“—-H.-_..-v'-‘.*.‘f."»,,,"«ﬂ + | E T H E] 4 5 O T
osE ﬂw'mﬁl‘mhimh I{ HHMII | |'+ H of . " . " . " " pr_clusterSeconaMoment
r ' A * pr_clusterSecondMoment
g 7 7 3 T 5 % 7

pr_clusterSecondMoment



E,

0.0<p<15

— Data
—MC

Data'MC
i

”””””F‘”I”'W”‘W'”W‘”'W‘”W

=]

=]

=)

=3

— __ _h_'_
- -
5 10 15 20 25
pr_clusterNHits
0.0<p<1.5
10°
— Data
—MC

Data/MC

- SUVOREPL N )
. el |

60 ~40 -20 [} 20 40 60
pr_clusterTiming

5,

15<p<25

50000

40000

30000

20000

10000

n

Data’MC

Data/MC

=

=]

Data/MC

10 15 20
pr_clusterNHits
15<p<25
— Data
— MC
|
-m.“f.+'#'+'m““+
0 [ E]

0
pr_clusterTiming

25<p<5.0

— Data

50000

40000

30000

20000

10000

Data/MC

5 10 1 20 25
pr_clusterNHits
25<¢<p<5.0
— Data
— MC

n
-ﬁ_".: H’q."+ﬂ|,'ﬂ++|'+}*.|+ h + +H i #}

0 20 40 E
pr_clusterTiming



DataMC

0.0<p<15

90000

80000

70000

60000

50000

40000

30000

20000

— Data
—MC

Data/MC

=3

0z 0.‘3
pr_clusterHighestE

0.0<p<15

250

200

150

100

50

o

)
LA L

s

pr_clusterE9E21

06

15<p<25

80000

70000

60000

50000

40000

30000

— Data
—MC

Data/MC

0.3 0.4 0.5 0.6
pr_clusterHighestE

15<p<25

=

250

200

150

100

Data/MC

............... Il e

0.1 0.2 0.3 04 6 [X) 0.8 0.8

05 9.
pr_clusterE9E21

25000

20000

15000

10000

5000

Data/MC

25¢p<5.0

pr_clusterHighestE

25<p<5.0

- — Data
r — MC
_ .|
L . . [
ar T |
OIZ 0.‘3 D.‘4 OI5 0.6

60000

50000

40000

30000

20000

10000

Data/MC

L Lt e
| [T s

[X] 02 0.3 04 [X3 0.8

[ [
pr_clusterE9E21



Anti protons




Data/MC

Data/MC

100

80

60

40

20

0.0<p<15
10°
= T
| L ol b
F } Lohos
C |
0‘\ 0'2 0‘3 0.‘4 | IE D‘T n.‘s DIE

0.5 2.
pr_clusterE9E21

00<p<15

0.2 04

06 08
pr_clusterHighestE

Data/MC

15<p<25

=3

140

120

100

80

60

40

20

e l*lhﬂ'l-ﬂ"m

180

160

140

120

100

Data/MC

01 0z 03 04

05 06 [X] 0B 08
pr_clusterE9E21
1.5<¢p<25
— Data
—MC

TTT T T T[T T T[T I T[T T T[T TT [T TIT]TTIT [T X
R A A A A B R -

0z 0.4 06 0.8 1 12 14
pr_clusterHighestE

35000

30000

25000

20000

15000

10000

5000

Data/MC

25<¢p<«5.0
L T
— — Data T
= } ‘l-&:ﬂ boaset,
3 a1 02 03 0.4 05 08 07 08 09
pr_clusterE9E21
25<p<5.0

C — Data
60000 — —MC
50000 —
40000/ —
30000/ —
20000/ —
10000 —

16F —

o 14 - 4

g ¥
% 12—+ - " ha‘o“f"‘"‘"i
3k - R it

T e
08 =
02 04 1 T2 T




1.5<p<25 25<¢<p<5.0

. 00<p<15 16 _
r — Data — Data 60000 — — Data
r —_ C — MC
250 — —MC MC C
B 50000 —
200— r
L 40000 —
150 — E
r 30000 —
100 — 20000/ —
50— 10000 —
b L 1 . e L
0 81— * H
I g UL
$ I g s P ORI
s z ot i r ety Tl
° & I HH‘-H+ 2 —
0 0 40 80 80
pr_clusterTiming o pr_clusterTiming
pr_clusterTiming
00<p<15 15<¢<p<25 25<p<bh0
35000 — — Data E 200001 — Data
E —MC 35000 — 18000 —MC
30000 — F =
C r 16000 —
C 30000{— F
25000 — F 14000 [—
C 25000 {— 12000[—
20000 — C C
r C 10000 —
E 20000— F
15000 — c s000f—
10000 2° 195000 5000}
E ] E
C I 4000 —
so00l 10000 - -
C r 2000
N A N A R 5000 —
18 ;— . 1 = . o 12
o 14 _ﬂ,.w"-"* ".ﬁ*,'; E =
= £ - { o ME g 1
8 a2 - Yt 1 = E 8
z ¥ % 124, T e, o8 .,
8 E ‘ X X ‘ ‘ ‘ oty
. = 02 0.4 06 08 1 12 1.4 18
02 04 08 08 1 12 T4 18 08— pr_clusterAbsZernikeMoment4d
pr_clusterAbsZernikeMoment40 0z 0.4 06 08 1 12 18

pr_clusterAbsZernikeMoment40



40000

35000

30000

25000

20000

1

1

Data/MC

Data/MC

00<p<15

5000

0000

5000

— Data
—MC

0.4 06

0.8
pr_clusterAbsZernikeMoment51

00<p<15

— Data
— MG

=
T

o 5
pr_clusterNHits

50000

40000

30000

20000

10000

Data/MC

200

180

160

140

120

100

80

40

20

Data/MC

[}

n

1.5<p<25

15<p<25

=3

25<p<5.0

22000 -

— Data
20000

—MC
18000 -
16000 |-
14000 |-

12000

10000

Data/MC

0.6
pr_clusterAbsZernikeMoment51

0.8 1 12

25<p<5.0
L — Data
50000—
L —MC
40000 —
30000
20000
10000—
N R N B
| — - e
Q E - —
¢ f _
El r —
E 05 —
of ¢ : ‘ 2 E:

0 15
pr_clusterNHits




60000

50000

40000

30000

20000

10000

Data/MC

35000

30000

25000

20000

15000

10000

5000

Data/MC

00<p<15b

— Data

—H-H_‘—‘—‘—-._

—
e et b i
; 4

3 ) 5 & 7
pr_clusterSecondMoment

0.0<p<15

90000

80000

70000

60000

50000 —

40000

30000

20000

10000

Data/MGC

0.5

15<p<25

— Data
— MC

—— }
_A-..p..‘-.o..._....»m'q.‘.,mo, +i'+“|| "l " p +|

3 4 5 B 7
pr_clusterSecondMoment

15¢p<25

40000

35000

30000

25000

20000

15000

10000

5000

]

Data/MC

‘ﬁMﬁﬁw'

01 0z 03 04 06 07 08 09 1

05
pr_clusterE1E9

30000 —

25000

20000

15000

10000

5000

Data’MC

12000

10000

8000

6000

4000

2000

Data’MC

25¢p<5.0

r — Data
— MC

1 2 3 4 5 & 7
pr_clusterSecondMoment

25¢p<5.0

02 03 04

wmﬂhhf """"""""""""""""" ]

05
pr_clusterE1E9



00<p<15 1.5¢p<25 25<p<50

10° 10° x10°
E 500 — L
200 — Data + — Data 1401 — Data
E —MC i —MC C —MC
180 = 120(—
= 400— |b r
180 — = L
C C 100 —
140 L L
= 300 — L
120 L 80—
00— For r
E r 60—
80— 200_7 -
60— L a0
q0— 100 — r
= o0l
20 -
22 P PN N e N N A e .
¢ L f
L+ +
2 g s g s, .
R T 2 4 i, H
o 8 1 = r I
e
05 L 0.5 L
1.5 15
pr_clusterUncorrE pr_clusterUncorrE pr_clusterUncorrE
1.5<p<«25 2
0.0<p<15 - p S5<p<s0
40000 ! — Data T — Data
[ — Data 140 — 60000 -
B i —MC I —MC
35000 —MC i s
N 120 — 50000 (1—
30000 [ r
r 100 40000 {{—
25000 |- [ A
r 80— [
[ r 30000 [—
20000 f— [ [
N 60— N
15000[— [ 20000~
40— [
10000 100001t
E 20—
5000 — C T S I T S A S
r Al b b b b b b b 1Y H
C | | = o
E % F E ,,,,,
2 o 2 [=]
E o =
g E a =
E o
o c s s . s \ ) \ ) ) 03 0.4 05 05 [%] () [X)
a 0.1 02 0.3 0.4 05 0.6 0.7 0.8 0.9 1 pr_clusterL AT
pr_clusterLAT
0.1 0.2 0.3 0‘4 0.6 0.7 O.‘E 0.9 1

0.8
pr_clusterLAT - .



15



Data/MC

00<p<04
50000 f—
— Data
— MC
40000 f—
30000

20000

10000

Data/MC

300

250

200

150

100

50

1;37_\_\..%\.. vl b b b by e

t
o
0 o (A 3 [ [ [ o7 8 (]
pi_clusterL AT
0.0<p<0.4
10°
—_J — Data
— MC

-._.‘—-~—-----m~.~w++++"++++*+h+*m'+';|'ﬁ+ﬂ}'dﬂih’ I

05 T 5
pi_clusterUncorrE

25

Data/MC

Data/MC

8000

8000

7000

6000

5000

4000

3000

2000

1000

IS

™

o

250

200

150

100

50

2

“H“H”‘”Hlu—lu_._.i“‘IIHIH‘III“II“llaJ

@

)

06<p<ct12

— Data

E il
o 52 73 (X [ [ 57 78 [
pi_clusterLAT
04<p<06
— Data
—MC

st g

0.5 1 1 I5 2 25
pi_clusterUncorrE

04<p<0.6

30000

25000

20000

15000

10000

5000

Y IV I S

— Data

@

o
T TR T

Data/MC

]l
t

2

02 0.3 04 05 06 07 08 09
pi_cluster AT

06<p<12

d

140

120

100

80

60

40

20

— Data
—MC

R

Data/MC
@ 2
T RARNRRRREN

E;ﬂ%wmmwmmﬂﬂhJNL

0.5 1 1 I5 2 25
pi_clusterUncorrE




0.0<p<04

40000

35000

30000

25000 ff

20000

15000

10000

5000

— Data
—MC

Data/MC
)
N U \I‘ TTT \l\l

o

=

0.2 0.4 0.6 0.8
pi_clusterAbsZernikeMoments1

00<p<04

35000

30000

25000

20000

15000

10000

5000

Data/MC
N

04<p<06

45000

40000

35000

30000

25000

20000

15000

10000

5000

— Data
—MC

Data/MC

o L L L

0.2 0.4 0.6
pi_clusterAbsZernikeMoments

04<p<05

0B

1

)00]]

5000

J000

5000

J000

5000

>

18 1
14— e
E e

12— -
c W
P -t 1y sttt
= rsam e s s e e
[H] Er) & 2. 1z T4 6

) 1
pi_clusterAbsZernikeMoment40

14000

12000

10000

Data/MC

8000

6000

4000

2000

1

o
=
k]

=
a

06<p<c1.2

— Data
—MC

0000

8000

6000 F

4000

2000

0.2

0.4 0.6 08 1 12
pi_clusterAbsZemikeMoment51

06<p<12

TRRERARERE




Data/MC

45000

40000

35000

30000

25000

20000

15000

10000

5000

Data/MC

180

160

140

120

100

80

60

40

20

o o

00<p<Q4a

E)

@

s

=

0.2 0.3 0.4 0.6 0.7 0.8 0.8

05
pi_clusterE1E9

0.0<p<04

— Data
—MC

3 0.7 08

0.4<p<0.6

50000

40000

30000

20000

10000

Al by FTINEE

N
IARRRRRAR

Data/MC

E e

o1 02 03 0.4 05 06 07 08
piclusterE1ES

04<p<086

=

0.9

220

200

180

160

140

120

100

80

60

40

20

— Data
— MC

s>

DataMC
«

4___

i

0:! 0.3 0.4 0.5 06 0.7
pi_clusterE9E21

18000

16000

14000

12000

10000

8000

6000

4000

2000

2

Data/MC
= g

o

60000

50000

40000

30000

20000

10000

Data/MC

06<¢<p<ci12

0.1 02 0.3 04 05 0.6 0.7 0.8 0.8
pi_clusterE1E9

06<p<c12

B T

0‘4 DI5 08 0.7 o8 L)
pi_clusterESE21

18



70000

60000

50000

40000

30000

20000

10000

Data/MC

Data/MC

00<p<04

— Data
—MC
1l

v b B L

P

—

[t Y

e - A
N +H+ Ifﬂ K mH*H{'*rw

3 < )
pi_clusterSecondMoment

0.0<p<04

— Data

o
pi_clusterTiming

80000

70000

60000

50000

40000

Data/MC

Data/MC

160

140

120

100

60

40

20

04<p<06

;_ A — Data

o —MC

E [

E oA

F [

|

- [P

E b

. [if = 0

E G -

- I

o by b by TS N,

—~aa;&aaam*&wmﬂmﬁmﬁmmwﬁJmﬂ

2.

3 4
pi_clusterSecondMoment

04<p<06

— Data
— MC

I RN R R R RN RN R

20

piclusterTiming

25000

20000

15000

10000

Data/MC

5000

50000

40000

30000

20000

10000

Data/MC

e

06<p<1.2

— Data

o e b ey T .

LR

ﬂwﬁmmmmmm¢wﬂ¢$mf$ﬁmﬁMﬂHWJ

7 z T ) ) §
pi_clusterSecondMoment

06<p<c1.2

:+'H
EH +|+hN

pi_clusterTiming

30 B0 40 20 [} 20 a0 60

19



Data/MC

Data/MC

140

120

10

]

80

60

40

20

©

°

0.0<p<04
10°
240 ;7 — Data
220— — MC
200 f—
180 ;
160 f—
140 f—
120 f—
100 f—
80 f—
60—
= 11[
Iry)
nE il P J:l_ﬁ__run -
1 f " = i - |
0.5 i_ T hrﬂ‘ﬂ"{ﬂvdi‘lih‘
= 3 o 5 20 2!
pi_elusterNHits
00<p<04
10°
L — Data
E — MC
P B L
E:- \\—_"H— ,._u+ow'+‘“+"+"'¢*"f'++"ﬂ*"mﬂ
E o 02 04 05 08

03
pi_clusterHighestE

Data/MC

Data/MG

160

140

120

100

80

60

40

20

04<p<06

— Data
—MC

= i
B L A

=

0 15
pi_clusterNHits

04<p<08

— Data
— MC

F

-

T e et

0.3
pi_clusterHighestE.

05

0.6

Data/MC
s

06<¢<p<i2

70000 — Data

— MC

60000

50000

40000

30000

20000

10000

“\“-=-*wa:|H—H-J

Data/MC

b

) L 10 5 g
pi_clusterNHits

06<p<ci2

45000 — Data
40000
35000
30000
25000
20000

15000

10000

5000

[ : ; ! y X

20



21



0.0<p<04

45000

40000

35000

30000

25000

20000
15000
10000

5000

— Data

Data/MC

pi_clusterAbsZemikeMoment51

00<p<04

0z 04 06 08

30000

25000

20000

15000

10000

5000

Data/MC

04<p<06

50000 —

40000

30000

20000

10000 —

Data/MC

— Data
— MC

_______ T:Tfi'_'f'_'t!i}.}l'ﬂi*m

35000

30000

25000

20000

1

1

Data/MC

”fww

5000

0000

5000

0z 1

0.4 0.6 0.8
pi_clusterAbsZemnikeMoment51

04<p<06

06<p<ct2

12000

10000

8000

6000

4000

2000

— Data

o
AL ARLIRRRLNE

Data/MC

=

02 o4 06 08 1 12
pi_clusterAbsZernikeMoment51

06<p<12

9000

8000

7000

6000

5000

4000

3000

2000

1000

— Data
—MC

3
T T T[T

Data/MC
n

+n+,'+'
t o T
et +

0.2 04 06 08 1
pi_clusterAbsZernikeMomentd0



Data/MC

0.0<p<04

45000

40000

35000

30000

25000

20000

15000

10000

5000

PN T Ly

=

Data/MC
N

{4

==

e

3,

ol

0.2 03 0.4 05 06
pi_clusterE1E8

0.0<p<c04

0.7 0.8 0.9

140

120

100

80

60

40

20

Y SR B I

— Data
— MC

0.1 [ 0.3 04 6

5 0.
pi_clusterE9E21

0.7 08 0.8

Data/MC

50000

40000

30000

20000

10000

Data/MC

180

160

140

120

100

80

60

40

20

04<p<0.s6

0.1 [F) 03 0.4 05 [ 07 08
pi_clusterE1E9

04<p<086

=X

0.9

— Data

|

0.1 0.,

- ---|h|}d-}h{'{,. s b

0.4 05 0.6 0.7 0.8
pi_clusterE9E21

0.9

1

1

1

1

Data/MC

6000

4000

2000

0000

8000

6000

4000

2000

06<p<1.2

o

o
o

50000

40000

30000

20000

10000

Data/MC

@

™

0.4 & 07 [X) 09

0.5 0.
pi_clusterE1E9

06<¢p<c12




60000

50000

40000

30000

20000

10000

Data/MC

Data/MC

oy

120

100

80

60

40

20

0.0<p<c04
F | I i — Data
F fi i — MC
r I
E | i
E | |I I
- I
Eo|l Ll f
C | HIIf [l
| 1 4
g '
s
T L] AL
k.
P
b T T L P mi',f'|+“0.HH' il
E +
T z 3 + 5 3
pi_clusterSecondMoment
0.0<p<04
10°
———— |
=20 20 40 60

0
pi_clusterTiming

60000

50000

40000

30000

20000

10000

Data/MC

Data/MC

T

140

120

100

80

60

40

20

s,

04<p<06
— Data
—MC
i
[
[
[
el e by TS VLAA-NA ny,
Tt oyttt g B a1y
5

3 «
pi_clusterSecondMoment

0.4<¢<p<0.6

3

IS

e

ST TR
#
#

pi_clusterTiming

2200¢

2000¢

18001

1600

14001

12001

10001

800

800

4001

200

Data/MC

45000

40000

35000

30000

25000

20000

15000

10000

5000

Data'MC
o

06<¢<p<12

0

0

0

0

0

0

0

]

[i]

4]

o

— Data
—MC

!
”-“--—-'-.m"-:'m"w"ﬂ“ik"“u“'{“*iPH "h||-|-|[{lﬁl|

3 4
pi_clusterSecondMoment

06<p<1.2

B 3 7

— Data
— MC

m‘m\lg’_
F

R e RN

o
pi_clusterTiming

40 80

24



Data/MC

00<p<04

250—

200—

150 —

100 —

— Data
— MC

e e oo

Data/MC

—_ __,_-__.,._..__;._+ﬁ+|"++.d++h .
+

Data/MC

.

10 15
piclusterNHits

0.0<p<04

20

20

S

18

S

16

S

14

=)

12(

=]

10(

S

-

=]

60

40

20

— Data
— MC

°
T

— e

L S
TN
wﬂ:ﬁﬂmﬂ”ﬂ"r,wh“ '+'+ AR

03
pi_clusterHighestE

05

04<¢p<086

— Data

T b

e e et +_++‘-i++-+{ e b

E

10
pi_clusterNHits

04<p<06

200

180

16

S

14

S

12

10

5]

8

=)

S
T T[T T[T [T [T T T 77T]

— Data
—MC

|
sted b o

Data/MC
o
n
TR

conr T T

e ot

03 05 06
pi_clusterHighestE

15 20 E:

06<p<1.2

60000

50000

40000

30000

20000

10000

— Data
—MC

by

Data/MC

LN B e |
R 1++'++

1 }L

40000

35000

30000

25000

20000

15000

10000

5000

Data/MC
®

10 15 20 2!
pi_clusterNHits
06<p<1.2
; — Data
E —MC
Ed PR B e "
= H
E ;'+;+++"H”
E .. ._m.:‘““
F 05 06

25



0.0<p<04

50000 =

40000 f—

30000

20000

10000

— Data
— MC

Data/MG

032

03

T (3
pi_clusterl AT

3

Data/MC

0.4<p<0.6

"NII |

[X] 02 [X] 0. 06 [X] 0.8 (]

4 05
pi_clusterLAT

Data/MC

9000

8000

7000

6000

5000

4000

3000

2000

1000

)
AR A AL

°

06<p<1.2

0.1 02 03 0.6 .7 0.8

4 05
pi_clusterLAT

26



	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16
	Slide 17
	Slide 18
	Slide 19
	Slide 20
	Slide 21
	Slide 22
	Slide 23
	Slide 24
	Slide 25
	Slide 26

